June 26, 2007

NRG
Re: NPRR074, Revisions to Monitoring and Qualification Tests in Section 8, Performance Monitoring and Compliance 

General Comments:

8.1.2.2.3 Responsive Reserve Service

            (8) An eight hour test window seems excessive to determine if the Resource can follow the deployment

            (8) (b)  The 4 second Base Points will control the unit in-between the 5 minute SCED Base Points, will the metric account for the 4 second Base Points?

            (8) (b)  The absolute measurement of the output of the unit does not consider beginning and ending frequency and does not account for the frequency response of the unit.  A 750 MW unit at 5% droop moves 25 MW/0.1 Hz, if frequency is low at 59.950 Hz at the start of the test and ends at 60.050 Hz at the end of the test, the unit will drop 25 MW just from the governor response of the unit.  This could be more than the Responsive Reserve deployment during the test.  You must account for all frequency deviations during the test and the governor action of the unit.

 

            (8) (b)  The governor response of steam turbines is not perfectly linear throughout the load range of the unit.  Steam valve overlap and cracking points can cause droop to be 3% to 7% during these transition zones.  It is not practical to expect them to perform at a perfect 5% droop to all frequency deviations.  The metric should allow some over-performance of the governor and allow for some underperformance.

 

8.1.2.4.1           Regulation Service Energy Deployment Criteria

(3)     The expected performance should allow for the droop and governor deadband of each resource.

(4)     (a)  Where did ERCOT determine that 5 MW is the correct allowable error?  Resources that only supply between 1 and 4 MW do not have to move their resource.  I do not think that a % error is correct but this 5 MW limit will let many small providers of Regulation service to just collect the money and not move their resource.  

(b)     The 98% acceptable performance level seems high.  CPS2 had a 90% performance level.  What is the justification for the 98% performance level?  Does the metric allow for the resource to start and stop equipment throughout the load range of the unit?  These are fans, pumps, pulverizers etc.

 

8.1.2.4.2           Responsive Reserve Service Energy Deployment Criteria

(1)     (a)  The metric should not expect a resource to provide 5% droop to an event plus the ramp rate of the Responsive Reserve deployment.  If the resource responds to the low frequency deviation of an event, the ramp rate of the resource begins at the MW level of the resource “BEFORE” the event, not after the resource has provide frequency response.  It is ok for SCED to send a new base point of the actual generation after the frequency response has occurred and to continue ramping the base point from that point, but the performance metric should use “beginning, pre-event starting” base point and measure the performance of the resource at the 5 and 10 minute point from this starting point limited by the ramp rate of the resource.  Governor response “over-performance” should not be punished as a failure of the metric within reason.  The metric should allow a droop performance of up to 2.5% and as low as 10 %.  The metric should account for frequency recovery during the deployment and this affect on the turbine governor.

(1)     (b)  In the zonal market, it is rare that ERCOT does not begin to recall the Responsive Reserve deployment within both 5 and 10 minutes.  The metric should not consider a reversal of total power output if the Resource has not reached the reduced output level.  Only when the deployment causes the resource to actually change direction should this be called a reversal.

(c)     The metric should allow a droop performance of up to 2.5% and as low as 10 %.

(h)     Recall should account for frequency change and governor droop.

 

8.1.2.4.3           Non-Spinning Reserve Energy Deployed under Dispatch Instruction Criteria

(3) (a) Metric must account for frequency change and governor droop.

 

